HSC 2002 - Software Design and Development
Question 16

16  The following steps represent a segment of a computer program,

v

Step 1 Load the number in memory location 100 into the accumulator,

Step 2 Add the contents of memory location 101 to the accumulator.

Step 3 Add the contents of memory location 102 to the accumulator.

Step4  Store the contents of the accumulator in location 105,

Which of the following best describes what takes place in this program segment?

(A)
(B)
(©)

()

The numbers 100, 101 and 102 arc added together.
The numbers 100, 101, 102 and 105 are added together.

The numbers stored in three different RAM locations are added together and stored
in RAM.

The numbers stored in four different RAM locations are added together and stored
in RAM,
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